Sandvikens BK

Fyrmanna omg 3 halv 2

IMP over faltet, 12 bord, 24 par. Antal brickor: 12.

Plac  Par Poéang Namn MID Klubb
1 17 2.90 Lillemor Jernberg - Lars-Goéran Ostlund 17143 2995  Gavle BK - Sandvikens BK
2 22 1.40 Daniel Jonsson - Kim Kjorsvik Andersson 56316 16658  Sandvikens BK
3 24 1.36 Hékan Lindstrém - Erik Gulliksson 12472 24169 Gavle BK
4 15 1.34 Alf K&gstrém - Bo Lindgren 33288 1280  Sandvikens BK - Gavle BK
4 19 1.34 Camilla Dotzauer - Walter Dotzauer 3257 3000 Sandvikens BK
6 11 0.51 Anders Eriksson-Glad - Hans Hedman 3038 8203 Sandvikens BK
7 16 0.48 Lars Haglund - Johnny Karlsson 24249 20903 Sandvikens BK
8 5 0.39 Lars-Ove Hedstrom - Lars Borgefeldt 11630 115 Sandvikens BK
9 2 0.34 Olle Sundgqvist - Tore Enbarr 2982 3044 Sandvikens BK
10 12 0.30 Stig-Ove Holgersson - Svante Larsson 2993 12501  Sandvikens BK
11 7 0.27 Patricia Kronback - Kent Maltein 33879 15967  Géavle BK - Sandvikens BK
12 4 0.14 Lennart Jansson - Christer Persson 3012 20006  Sandvikens BK
13 21 -0.14 Jonas Rosén - Andreas Almén 15391 28117  Sandvikens BK
14 18 -0.27 Anders Wike - Jan Fransson 2966 12537  Géavle BK - Sandvikens BK
15 13 -0.30 Lars-Gunnar Svangérd - Olle Sjodin 11682 49638  Sandvikens BK
16 23 -0.34 Pierre Winberg - Per-Erik Jansson 87444 2974 Bolinas BK - Gavle BK
17 20 -0.39 Anna Sundgvist - Anders Sjoberg 83993 52 Gavle BK
18 9 -0.48 Kristina Jénsson - Ronny Tornberg 15266 10934  Sandvikens BK
19 14 -0.51 Lars Andersson - Ann Fagerberg 18938 88969  Skutskéars BK - Gavle BK
20 6 -1.34 Peter Larsson - Steve Agren 33870 84214  Sandvikens BK
20 10 -1.34 Gunnar Soderling - Lena Moberg 20009 63641  Sandvikens BK
22 1 -1.36 Hans-Olof Akerlind - Per-Inge Karlberg 60343 7318  Sandvikens BK
23 3 -1.40 Mats Eriksson - Lars Johansson 85985 8206 Sandvikens BK
24 8 -2.90 Monica Hedstrom - Jan Englund 3125 8058 Gavle BK - Sandvikens BK
13 4 E1043 Basta kontrakt 14 4 Kn95 Basta kontrakt 15 4 Kn864 Basta kontrakt
Nord v K107 4¢ O =-130 Ost v 1042 34 S =140 Syd vE1054 24 V =-110
Alla ¢ E4 Ingen + EKD10 NS ¢+ E104
£D852 & ¢ v & NT #K103 & ¢ v & NT &K3 & ¢ v & NT
4K865 &D2 N8 346 4 «E8 4 D73 N7 7697 D32 & EK109 N58 7565
vDKn43 vE92 S 8346 3 vKKn73 v D98 S776 97 vKn96 v D87 S58755
+93 ¢ KKn87652 O 5 108 7 7 46532 ¢987 06 47 44 +D9%6 ¢ Kn7 085586
#E106  #Kn vV 5108 7 7 »876 #ED92 V64734 #E987 #Knl052 V85586
& Kn97 » K10642 475
v 865 v E65 v K32
+ D10 ¢ Kn4 ¢ K8532
#K9743 #Kn54 «D64
Par Kontr Ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
6 19 3NV-3 ¢4 300 98.0 -98.0|20 5 INN+3 &9 180 13.0 -13.0(21 4 1¢DS+1 ¢6 340 84.0 -84.0
22 3 3NV-3 &5 300 98.0 -98.0| 6 19 24 S+2 &8 170 13.0 -13.0(12 13 2¢ S+1 v6 110 22.0 -22.0
12 13 3¢ O= &4 -110 -4.0 40(16 9 14 S+3 &A 170 13.0 -13.0(11 14 INV-2 ¢4 100 19.0 -19.0
15 10 2¢ O+1 43 -110 -4.0 40| 8 17 INN+2 &2 150 1.0 -1.0(18 7 2¢ S= a2 90 15.0 -15.0
20 5 2¢ O+1 v¥5 -110 -4.0 40(21 4 INN+2 ¢9 150 1.0 -1.0(22 3 2¢ S= *A 90 15.0 -15.0
21 4 2¢ O+1 &7 -110 -4.0 40(22 3 INN+2 &2 150 1.0 -1.0|24 1 INS= a2 90 15.0 -15.0
23 2 3¢ V= a5 -110 -4.0 40(24 1 INN+2 &9 150 1.0 -1.0|15 10 24 O-1 2 50 3.0 -3.0
24 1 3¢ 0= v¥5 -110 -4.0 40(23 2 24 N+1 7 140 1.0 -1.0(16 9 24 O-1 2 50 3.0 -3.0
11 14 2¢ O+2 &3 -130  -15.0 15.0|15 10 INN+1 &2 120 -11.0 11.0| 6 19 INV= ¢4 -90 -42.0 420
16 9 3¢ O+1 8 -130 -15.0 15.0|11 14 24 S= &6 110 -11.0 11.0| 8 17 INS-1 v6 -100  -42.0 42.0
18 7 2¢ O+2 &3 -130  -15.0 15.0|12 13 14 S+1 &8 110 -11.0 11.0|23 2 INN-1 «A -100  -42.0 42.0
8 17 3NV +1 &5 -630 -127.0 127.0|18 7 24 S= &6 110 -11.0 11.0|20 5 INV+1l «4 -120 -50.0 50.0
16 « KD7 Bésta kontrakt 17 & D7 Bésta kontrakt 18 4 ED75 Bésta kontrakt
Vast vKD6 3v V =-140 Nord v KKn10976 74 N =1510 Ost vED72 INTS =90
oV +6 Ingen + E10 NS +85
#987652 & ¢ v & NT #ED8 & ¢ v & NT D97 & ¢ v & NT
4 E10642 o- N7 4477 aKn32 496 N 1212111312 4K9832 410 N7 7677
vE82 vKnl0975 S 7 4 4 7 6 v43 v ED852 S 1211101311 v 83 v KKn654 S76677
¢ DKn10 ¢98542 06 9 956 ¢+D732 4985 011201 ¢ DKn102 ¢ EK3 O56 766
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Par  Kontr Ut Res Poang Par  Kontr ut Res Poang Par  Kontr ut Res Poang
16 9 14 O0-2 ¢A 200 320 -32.0|22 3 74 S= v4 1510 149.0 -149.0(18 7 4v O-3 +6 150 45.0 -45.0
20 5 1la V-2 &9 200 320 -32.0|18 7 64 S+1 ¢3 1010 82.0 -82.0|15 10 2¢vO-2 +¢6 100 28.0 -28.0
24 1 1a V-2 &5 200 320 -32.0|24 1 64 S+1 ¢3 1010 82.0 -820(20 5 2¢ V-2 +8 100 28.0 -28.0
6 19 14V-1 +6 100 -3.0 30|16 9 6NS= ¢3 990 79.0 -79.0(21 4 2vyO-2 44 100 28.0 -28.0
8 17 14 V-1 &5 100 -3.0 3.0|15 10 3NS+4 ¢2 520 -200 20.0(24 1 2NO-2 +6 100 28.0 -28.0
11 14 14 V-1 vK 100 -3.0 3.0|21 4 3NS+3 42 490 -30.0 300( 6 19 2NO-1 +6 50 10.0 -10.0
12 13 14 V-1 ¢6 100 -3.0 3.0|23 2 3NS+3 ¢3 490 -30.0 30011 14 2v O-1 «4 50 10.0 -10.0
15 10 14 V-1 vK 100 -3.0 3.0|11 14 44 S+2 ¢3 480 -30.0 30.0| 8 17 INO= %6 -90 -32.0 320
18 7 1la V-1 &5 100 -3.0 30|20 5 44 S+2 ¢3 480 -30.0 30016 9 INO= T -90 -32.0 320
21 4 1a V-1 &5 100 -3.0 3.0|12 13 3NN+2 &6 460 -36.0 36.0|22 3 INO= &2 -90 -32.0 32.0
23 2 49y 0-1 ¢A 100 -3.0 30| 6 19 34 S+3 ¢3 230 -840 84.0(23 2 2v0= vT -110 -37.0 37.0
22 3 2¢ S-3 &K -150 -720 72.0| 8 17 5v N-1 &6 -50 -132.0 132.0(12 13 2NO= ¢4 -120 -440 440
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19 49876 Basta kontrakt 20 4 K5 Basta kontrakt 21 4932 Basta kontrakt
Syd v K83 5v N D -3 -500 Vast v 10963 3v N =140 Nord v K1094 24 OD-1100
ov + D6 Alla + ED62 NS + EK2
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Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
11 14 2y N+2 v2 170 620 -62.0|16 9 INO-2 ¢3 200 59.0 -59.0| 6 19 2v S= &4 110 24.0 -24.0
12 13 2v S= ¢A 110 38.0 -38.0|21 4 3«4V-2 6 200 59.0 -59.0| 8 17 2v N= «Q 110 24.0 -24.0
15 10 2y N= «Q 110 38.0 -38.0|12 13 2¢vy N+1 &7 140 410 -41.0(15 10 2v S= A 110 24.0 -24.0
23 2 2vS= ¢A 110 38.0 -38.0|15 10 2v N+1 42 140 410 -410(18 7 2v S= A 110 24.0 -24.0
18 7 3vS-1 +K -50 -5.0 50[22 3 2vS+1 #4 140 410 -410(21 4 2v S= A 110 24.0 -24.0
21 4 3vS-1 +A -50 -5.0 50| 8 17 140= v5 -70 -170 17020 5 INN= *2 90 140 -14.0
22 3 4vy N-1 3 -50 -5.0 50|11 14 2¢ N-1 w7 -100 -27.0 27.0|23 2 INN= &2 90 14.0 -14.0
8 17 INS-2 ¢A -100 -22.0 22.0(20 5 4v S-1 46 -100 270 270(16 9 3#0-1 +¢Q 50 2.0 -2.0
16 9 4vy N-2 4Q -100 220 22.0|23 2 49 S-1 46 -100 270 27.0(24 1 3#0-1 &T 50 2.0 -2.0
6 19 3¢ V+2 ¥3 -150 -39.0 39.0( 6 19 24 V= &7 -110 -27.0 27.0|12 13 3v S-1 #4 -100 -40.0 40.0
20 5 4¢ V+1 #3 -150 -39.0 39.0(18 7 3NS-2 46 -200 -58.0 58.0(11 14 24 O= vA -110 -45.0 45.0
24 1 4¢ V+1 93 -150 -39.0 39.0(24 1 2&4N-2 &7 -200 -58.0 58.0(22 3 4vy N-2 «Q -200 -67.0 67.0
22 4 K1063 Basta kontrakt 23 4 Kn953 Basta kontrakt 24 49 Basta kontrakt
Ost v Kn8642 46 S =420 Syd v K6 5¢ VD -2500 Vast v Kn1082 54 V =-450
ov +5 Alla + Kn Ingen + 9654
&E42 & ¢ v & NT #E109874 & ¢ v & NT &#Kn874 & ¢ v & NT
& E9 & D2 N5 4 9 107 «E107 &D2 N 114 7 1010 & EKNn764 #KD103 N4 3822
v10 vKD73 S55 9 107 vE9872 v104 S 114 7 1010 v5 vED3 S 43822
¢ KKn10973 ¢ 642 088435 ¢ D1074 4986532 0296 33 ¢ Kn873 ¢ E102 O8 9 5 1110
&#KKn107 D985 V8 84365 &K 652 V296 33 #1093 &#KD5 vV 8 9 5 1110
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+ ED8 ¢ EK + KD
#63 #DKn3 &E62
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
20 5 5¢DV-2 46 500 82.0 -82.0|12 13 3NS+3 ¢7 690 67.0 -67.0|15 10 3NO= v4 -400 17.0 -17.0
24 1 44 S+1 T 450 68.0 -68.0|15 10 3NS+2 ¢4 660 60.0 -60.0(21 4 3NO-= v7 -400 17.0 -17.0
11 14 44 S= vT 420 66.0 -66.0|124 1 3NS+2 v2 660 60.0 -60.0| 6 19 44 O= +K -420 5.0 -5.0
12 13 44 V-2 5 200 4.0 -4.0(22 3 44 N+1 49 650 60.0 -60.0|16 9 4a V= vJ -420 5.0 -5.0
15 10 34 S+2 T 200 4.0 -4.0(11 14 3NS+1 v7 630 48.0 -48.0|12 13 3NO+1 v¥6 -430 5.0 -5.0
16 9 34 S+2 T 200 4.0 -4.0(23 2 3NS+1 ¢7 630 48.0 -48.0| 8 17 44 O+1 &5 -450 -7.0 7.0
18 7 34 S+2 T 200 4.0 40| 8 17 46 S= ¢7 620 48.0 -48.0|11 14 44 O+1 +¢K -450 -7.0 7.0
22 3 34S+2 T 200 4.0 4.0 6 19 2NS+3 ¢4 210 -49.0 49.0(20 5 44 O+1 K -450 -7.0 7.0
23 2 34 S+2 T 200 4.0 -4.0(20 5 3« N+2 T 150 -64.0 64.0(22 3 44 O+1 42 -450 -7.0 7.0
8 17 2¢ V+1 46 -110 -74.0 74.0(16 9 34 S= vA 140 -64.0 64.0(23 2 44 V+1 )] -450 -7.0 7.0
6 19 4¢ V= & K -130 -83.0 83.0(18 7 44 S-1 vA -100 -107.0 107.0(24 1 44 V+1 v -450 -7.0 7.0
21 4 3¢ V+1 46 -130 -83.0 83.0(21 4 44 S-1 2 -100 -107.0 107.0(18 7 3NO+2 v4 -460 -7.0 7.0
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